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:Jall
B b—a mw—-0_ n
n 4 4
f(x) = sin(x)
X @)
0 0
/4 0.707106
m/2 1
37 /4 0.707106
T 0
[ = HTM [4(0.707106) + 2(1) + 4(0.707106)] = 2.004558
T
exact solution = fsinx dx = —(cosm — cos0) = 2

n

T
Trapezoidal: I = 1 [0.707106 + 1 + 0.707106] = 1.896118898
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=01 |, fx)=¢e™™*
X f(x)
0 1
0.1 0.990050
0.2 0.960789
0.3 0.913931
0.4 0.852144
0.5 0.778801
0.6 0.697676
0.7 0.612626
0.8 0.527292
0.9 0.444858
1 0.367879
Z 1.367879 3.740266 3.037901

0.1
=3 [(1.367879) + 4(3.740266) + 2(3.037901)] = 0.746825
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Solution
1-0 1
h = 5 0.125 ) f(X) = Vira
x f(x) 4 X f(x) 2 X f(x)
0 1
0.125 3.969112
0.250 1.940285
0.375 3.745317
0.5 1.788854
0.625 3.391993
0.750 1.600000
0.875 3.010307
1 0.707107
Z 1.707107 14.116729 5.329139

0.125
I= 5 [1.707107 + 14.116729 + 5.329139] = 0.881374
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